FFE125 FM2FE PETERBERRBKREXRFIRHTE

<EXEE> (84 T, %) (84 FF. %)
X 5 SH2EE |#Brtt] SHMTEE |#ERiE = 5l (GBS X yal SH2EE |#Erkt] SHMTEE |[#HRi = 5l (GRS
1 ERBERER 1,351,592 15.1 1,459,014 158 A 107,422 A 14 1 BEE 47476 0.5 44,467 0.5 3,009 6.8
2 FRAMRUFHH 1,600 0.0 1,610 0.0 A 10 A 06 2 RIRHAGE 6,644,919 745 6,768,607 73.2 A 123,688 A18
3 EEXHE 2,986 0.0 0 0.0 2,986 ER ] 3 EREEERSLEWMES 2,133,157 23.9 2,307,346 25.0 A 174,189 A 15
4 BEXHE 6,840,531| 76.7 6,986,934 756 A 146,403 A 21 4 RIBEEEE 68,454 0.8 73,273 0.8 A 4819 A 6.6
5 BAEIRA 1,748 0.0 1,294 0.0 454 35.1 5 EERIE 1,748 0.0 1,294 0.0 454 35.1
6 EASE 709,995 8.0 773,140 8.4 A 63,145 A 8.2 6 EXHS 26,706 0.3 32,173 0.3 A 5467 A 170
7 g#s 1 0.0 1 0.0 0 0.0 NMEE 0 0.0 439 0.0 A 439 £
8 EEUNA 14,007 0.2 20,606 0.2 A 6,599 A 320 TiHE 0 0.0 15,000 0.2 A 15,000 e
E 8,922.460| 100.0 9,242,599 100.0 A 320,139 A 35 B 8,922,460 100.0 9,242 599 100.0 A 320,139 A 35
<EBEZ#E> (B4 FF, %) (84 FF, %)
X & SH2FEE |#rt| SHTEE |#Rk = 35 [GES X & SH2EE |#rk] SHTEE |#ERt = 5 GES
1 2EIRA 149,833 69.3 166,915 754 A 17,082 A 102 1 WBEE 115,156] 53.3 112,323 508 2,833 25
2 FRARUFHH 558 0.3 571 0.3 A 13 A 23 2 EXE 83,200( 385 98,322 444 A 15122 A 154
3 BEXHE 6,405 3.0 1,292 0.6 5113 395.7 3 RS 13,312 6.2 2,909 1.3 10,403 357.6
4 BAEEIRA 3 0.0 3 0.0 0 0.0 4 NMEE 3,542 1.6 6,727 3.0 A 3,185 A 473
5 FHte 3 0.0 3 0.0 0 0.0 5 P& 1,000 0.5 1,000 0.5 0 0.0
6 fEAE 47001 217 45169 204 1,832 4.1
7 iREE 1 0.0 1 0.0 0 0.0
8 A 6,306 2.9 6,427 2.9 A 121 A19
9 Thig 6,100 2.8 900 0.4 5,200 577.8
it 216,210] 100.0 221,281] 100.0 A 5071 A 23 B 216,210] 100.0 221,281] 100.0 A 5,071 A 23
BE135 SMoEE DR s Emy K EEHR S T Gt F. 06) (st 77, %)
X % SH2EE |[Brit] SHTEE |EEk = 5l [GES X & SH2EE |#Ek]| SHTEE |#EEk = 35| (GBS
1 HEERVEHES 1,218 04 1,218 0.4 0 0.0 1 #WKE 111,711]  36.1 109,769 34.0 1,942 18
2 FABRUFHEA 65,558 21.2 67,349 20.9 A 1,791 A 27 2 BEEEYKERE 6,874 22 2,100 0.7 4774 227.3
3 BAEIRA 16 0.0 70 0.0 A 54 A 77.1 3 NMEE 185,778 60.1 205,691| 63.8 A 19913 A 97
4 BAE 242569 78.4 252,743 784 A 10,174 A 40 4 FiwE 5,000 1.6 5,000 1.6 0 0.0
5 f&Hs 1 0.0 1 0.0 0 0.0
6 FEURA 1 0.0 1 0.0 0 0.0
RXHE o 00 1178] 04 A 1178 B
it 309,363] 100.0 322,560] 100.0 A 13,197 A 4.1 B 309,363] 100.0 322,560] 100.0 A 13,197 A 4.1




BE145 SHEE PETNERRELEALHTEY

<HREEEHFE> (fir: T, %) (8t T, %)
X % SHI2EE [#rtt] SHTEE |#Ett = 5l [GES X & SH2EE [#eitt] SHTEE |#Ert = 5 [GES
1 N ERER 1,448,783] 183 1,542,661 20.0 A 93878 A 6.1 1 B5E 83,860 1.1 85,562 1.1 A 1,702 A 20
2 FRAARUFHH 324 0.0 364 0.0 A 40 A 110 2 RIE#EGE 7,356,949| 928 7.148209| 926 208,740 2.9
3 EEXHE 2041561 258 1,969,627 255 71,934 3.7 3 g XiEE 482,017 6.1 485,256 6.3 A 3,239 A 0.7
4 TIEERNE 2,067,482 26.1 2,014,343 26.1 53,139 2.6 4 REENEEE 1,452 0.0 0 0.0 1,452 ]
5 BEXHE 1,104,335 13.9 1,078,058| 14.0 26,277 24 5 EEEae 1,523 0.0 996 0.0 527 52.9
6 BAEIRA 1,522 0.0 995 0.0 527 53.0 6 FEIZHE 2,004 0.0 2,005 0.0 A1 A 00
7 BAE 1,264,292 159 1,116,474 145 147,818 13.2 7 FlEHE 500 0.0 500 0.0 0 0.0
8 i 1 0.0 1 0.0 0 0.0
9 FEIRA 5 0.0 5 0.0 0 0.0
it 7,928,305 100.0 7,722,528] 100.0 205,777 2.7 B 7,928,305] 100.0 7,722,528] 100.0 205,777 2.7
<NEY—ERZEEHTE> (4 FF, %) (4 FF, %)
X ol SH2FEE |#Eattt] SHMTEE |#ERE = 5l (GBS X bl SH2EE |#Erkt] SHTEE |#Ei = 5l R
1 BAEEURA 522 0.3 399 3.0 123 30.8 1 WK E 3418 2.1 4218 317 A 800 A 190
2 A% 4,504 2.8 5286 39.8 A 782 A 148 2 FEERE(EE 155,688 96.9 7670 577 148,018 1,929.8
3 fgHsE 1 0.0 1 0.0 0 0.0 3 EEBIE 523 0.3 400 3.0 123 30.8
4 FEIRA 2 0.0 2 0.0 0 0.0 4 FligE 1,000 0.6 1,000 75 0 0.0
5 & 155,600] 96.9 7,600 57.2 148,000 19474
it 160,629] 100.0 13,288] 100.0 147,341 1,108.8 =t 160,629] 100.0 13,288| 100.0 147 341 1,108.8
HE155 TH2FE fEH/VIEESHKERFBASHTE (g1 F . %) St )
X & SH2FEE |#rtt] SHTEE |#Rk = 35l [GES X & SH2EE |#Rk]| SHTEE |#Rt = 5 [GES
1 FAMRVUFHE 1,419] 888 1,440 90.1 A 21 A15 1 WBE 37 2.3 37 2.3 0 0.0
2 BARE 178  11.1 157 9.8 21 13.4 2 NMEE 1511 946 1511 946 0 0.0
3 EBE 1 01 1] o1 0 0.0 3 FiEE 50[ 31 50[ 31 0 0.0
it 1,598 100.0 1,598| 100.0 0 0.0 B 1,598] 100.0 1,598] 100.0 0 0.0
HE168 SHEE hERH(IU T A—SFIINBERARHFE s 7m %) (i TR, 96)
X % SH2EE |[Brit] SHTEE |EEk = 5l [GES X % SH2EE |BEk]| SHTEE |#EEk = 35| [GES
1 BEIRA 1,070 9.2 980 8.7 90 9.2 1 BEE 11,691 100.0 11,236 100.0 455 40
2 FRAMRUVFHH 4907 420 4463| 397 444 9.9
3 BAEIRA 1 0.0 1 0.0 0 0.0
4 BAE 5549 475 5652 50.3 A 103 A18
5 EEIRA 164 1.4 140 1.2 24 17.1
B 11,691 100.0 11,236 100.0 455 4.0 B 11,691 100.0 11,236] 100.0 455 4.0




HE175 SHEE PRHRMSBEERSHLHT (gt 73, 90 CLELRD
X % SHI2EE [#rtt] SHTEE | #Ett = 5l [GES X & SH2EE [#eitt] SHTEE |#rt = 5 [GES
1 BHEhEEREREY 723297 72.2 696,258 71.3 27,039 3.9 BEE 8,195 0.8 6,393 0.6 1,802 28.2
2 FRAARUVFHH 142 0.0 124 0.0 18 145 FEYSEREERLE
3 BAE 277,062 277 279,096 286 A 2,034 A 0.7 EEMftE 991.818) 990 968,508| 992 23,220 24
4 s 1 0.0 1 0.0 0 0.0 EXHE 1,198 0.1 1,550 0.2 A 352 A 227
5 EHEUIRA 1,209 0.1 1,562 0.2 A 353 A 22.6 FiEE 500 0.0 500 0.0 0 0.0
it 1,001,711] 100.0 977,041 100.0 24,670 2.5 it 1,001,711] 100.0 977,041] 100.0 24,670 2.5
#E185 GHI2FE QBEHZ—JNSAVET—VEEFASHFTH ostFm % CEUL TH, %)
X yal SH2EE |#Eatt] SHMTEE |#ERiE = 5l (GBS X 7 SH2EE |#Erkt] SHMTEE |[#ERi = 5l R
1 HEERVEES 3,520 1.0 1,728 0.7 1,792 103.7 WikE 337,426 99.7 234907 995 102,519 43.6
2 FARRUVFHA 166,367| 49.2 161,266] 68.3 5,101 32 NEE 32 0.0 84 0.0 A 52 A 619
3 BEIA 411 0.1 364 0.2 47 12.9 FiEE 1,000 0.3 1,000 04 0 0.0
4 BAE 16,506 49 4,369 1.9 12,137 2778
5 FEURA 2,054 0.6 2,064 0.9 A 10 A 05
6 & 149,600| 44.2 66,200 28.1 83,400 126.0
it 338,458 100.0 235991 100.0 102,467 43.4 B 338,458 100.0 235991 100.0 102,467 43.4
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